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��� ! 1  
"�#������	�� ! 1    $%�����������& (�(	) -�+�,�&�-���	��-��&����) 

 322-101   ��	
��

��������� 1            3(3-0-6) 
 324-101   �������� ! 1             3(3-0-6)  
 325-101   !#	$�
	%���������� ! 1            1(0-3-0)  
 332-101   &'
	%
�������� 1            3(3-0-6)  
 332-111   !(	$�
	%��&'
	%
�������� 1           1(0-2-1)  
 895-171   ,-�	!.//�0�%��12���	�3��	
           3(2-2-5)  
_______   ��5�	3��6�7% �	3��
��          3(3-0-0) 

      �������&���        17(14-7-24) 
 
8������&2   %��69�:�$�5����5���5�	3� 890-100 ,�;�7�9%<;�
��5�������=7�  ��5�	3� 890-101 %��&.9
>6:�-1,�;�7�9%<;������� >6:��5�	3� 890-102 %��7?��>6:�@�5�,�;�7�9%<;������� 0A=�!B� !
�����
�A��	�5�6�5%2�A�1C 
   
 

"�#������	�� ! 2     $%�����������& (�(	) -�+�,�&�-���	��-��&����) 

322-102   ��	
��

��������� 2        3(3-0-6) 
344-101   ��������	�5�%���7��	��
7��       3(2-2-5)   
344-102   !(	$�
	%���7��	��
7���������       1(0-2-1) 
344-121   ��������:$$1	D	
76>6:%��
��7
��@=7�-6     3(2-2-5) 
001-131   
E@,��:%�5>6:D	
        3(2-2-5) 
890-101   %��&.9>6:�-1,�;�7�9%<;�������      3(2-2-5)  
_______  ��5�	3�%6E?��6�F%;�        1(0-2-1) 

      �������&���        17(11-12-28)  
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"�#������	�� ! 1    $%�����������& (�(	) -�+�,�&�-���	��-��&����) 

322-201    ��	
��

��������� 3          3(3-0-6) 
330-101   A6�%3���	�5� 1           3(3-0-6)  
331-101   !(	$�
	%��A6�%3���	�5� 1       1(0-3-0) 
344-201   %��G!�>%���3	9G��9
�=�9       3(2-2-5)  
344-221   
��%:>6:
H�!.
5%����7��	��
7��      3(2-2-5) 
890-102   %��7?��>6:�@�5�,�;�7�9%<;�������      3(3-0-6) 
 ______   ��5�	3��6�7% A��1�	3��I��:       3(x-y-z) 
  
      �������&���        19((13+x)-(7+y)-(28+z)) 
 
 
 
 

"�#������	�� ! 2    $%�����������& (�(	) -�+�,�&�-���	��-��&����) 

315-101   %	D%����
�	�A6�%
-
� 1         1(0-0-3) 
344-202   %��G!�>%���3	9��
HE�$��79
=�       3(2-2-5) 
344-211   %�:$��%��@���
7��	M�>6:%��G!�>%��     3(2-2-5) 
344-222   79��!�:%7$�7��	��
7��       3(2-2-5) 
344-281   ��	
��

��
2�A��$�	�5�%���7��	��
7�� 1     3(3-0-6)   
347-212   A6�%
H	
	                   3(3-0-6) 
895-125   %��03=,�;� �5                  3(2-2-5) 
 ______   ��5�	3��6�7% A��1�	3��I��:       3(x-y-z) 
 

      �������&���        22((14+x)-(8+y)-(35+z)) 
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"�#������	�� ! 1    $%�����������& (�(	) -�+�,�&�-���	��-��&����) 

340-326   �	�5���

�� ���G�G65� >6:
�9��      3(3-0-6) 
344-311  G��9
�=�9@=7�-6        3(2-2-5) 
344-321   %��
��7
��@=7�-6>6:����7@?�5       3(2-2-5) 
344-331   %���	����:A�>6:77%>$$�:$$
��
����     3(2-2-5) 
344-361  A6�%%���:$$���@=7�-6       3(2-2-5) 
344-381   ��	
��

��
2�A��$�	�5�%���7��	��
7�� 2     3(3-0-6) 
______   ��5�	3��6�7% A��1�	3��I��:       3(x-y-z)   
 

      �������&���        21((14+x)-(8+y)-(32+z)) 
 
 

 
"�#������	�� ! 2    $%�����������& (�(	) -�+�,�&�-���	��-��&����) 

344-301   !(	$�
	%�����         1(0-3-0) 
344-323    �G��G���N
�N7��>6:%���3��7�
?7      3(2-2-5) 
344-341   �:$$!(	$�
	%��        3(2-2-5) 
344-351   �	��%���N7&
�>����$��79
=�       3(2-2-5) 
344-362   79��!�:%7$>&O�@=7�-6>6:%��D�1%��      3(2-2-5) 
895-203   D	
�	�5����� !         3(3-0-6) 
_______   ��5�	3��6�7% A��1�	3��I��:       3(x-y-z) 
 
      �������&���        19((11+x)-(11+y)-(26+z)) 
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"�#������	�� ! 1    $%�����������& (�(	) -�+�,�&�-���	��-��&����) 

344-441   %��
�=�9
��>!6,�;�        3(2-2-5) 
344-451    %��D�1%��G��9%��>6:�E�,��N7&
�>���     3(2-2-5) 
344-491   G��99����9�	�5�%���7��	��
7�� 1      2(1-5-0) 
344-493    
�������9�	�5�%���7��	��
7��      1(0-2-1)  
_______   ��5�	3��6�7% A��1�	3��I��:       3(x-y-z)               
_____   ��5�	3��6�7% A��1�	3��
��       3(3-0-0) 
_____   ��5�	3��6�7% %6E?���5�	3��	�5���

��>6:��	
��

��      2(x-y-z) 
    D�%��5�	3� 170-132, 170-208, 324-201, 336-212 >6: 336-213 
        

      �������&���                  17((8+x)-(11+y)-(11+z)) 
 
 
 

"�#������	�� ! 2    $%�����������& (�(	) -�+�,�&�-���	��-��&����) 

344-492   G��99����9�	�5�%���7��	��
7�� 2     2(0-6-0) 
_______   ��5�	3��6�7% A��1�	3��I��:      6(x-y-z) 
_____   ��5�	3��6�7% %6E?���5�	3�,�;�7�9%<;       3(x-y-z) 
    D�%��5�	3� 890-261, 890-351 >6: 890-361 
_____   ��5�	3��6�7% %6E?���5�	3��	�5���

��>6:��	
��

��     4(x-y-z) 
    D�%��5�	3� 170-133, 170-208, 324-201, 336-212 >6: 336-213 
 
 
      �������&���                   15((x)-(6+y)-(z)) 


